KCPE 2005

MATHEMATICS

1. Which one of the following is 50205082 in words?
A. Fiflty million two hundred and fifty thousand
and eighty two.
B. Fifty million twenty five thousand and eighty
C
D.

two.

Fifty million two hundred tlwunnd five
hundred and eighty two.

Fifty million two hundred and five thousand

onddlhtytwu

2. Whlutllephcevﬂueoftbediﬁtﬁinthnnmba
264903537
A. Hundred thousands
B. Millions
C. Six hundred thousand
D. Ten thousands

3. What is the number 29-34046 rounded off to the
nearest thousandth?
A. 293
B. 2934
C. 29340
D. 29341

4. What is the smallest number that can be divided by
12, 18 and 27 withounl a remainder?

A. 108
B. 36
c .3
D. 5832 =

S. A shopkeeper bought 30 eggs. He then sold each egg
at th 6, making a profit of 20%. How much had he
paid for the eggs?

A .ch 144

B. sh 130 i
C. sh 180 »
D. sh216 '

6. What is the value of 8 + 0-02 + 1:35 x 0-47
A. 40054
B. 4054
C. 150-54
D. 4054

i

7. The marked price of a blouse was sh 750.
bom{ﬁwnxhbloumnﬂcrbﬁn;pmalwa
discount. How much did ¢ - .y for the
blouses?

A. sh 3675
B. sh 675
C. sh 3375
D. sh 3700

8. Katua bought the following items from a kiosk:

2 kg of rice for sh 152

1§ kg of meat @ sh 160
2 loaves of bread @ sk 23

Whalbahnudsdhcmdvclfhcwdfonhnm
using a sh 1000 note?
; A shd38
g B. sh 562
C. sh 410
D. sh 665

9. In the figure below, RPQ is a triangle. Point O is
inside the triangle. Join RO, PO and QO.

R

10. The ages, in years, of 10 pupils in a class are: 16, I8,
15, 14, 17,-16, 14, 13, 19 and 14. What is the median
age of the pupils?

A 165
B. 156
C 14

D. 155

11. Which ane of the following statements is true about
all quadrilaterals? .
A. Opposite sides are equal.
B. Diagonals biscct at right angles.
C. Sum of interior angles is 360°,
D. Angles are right angles.



12. A container of volume 1 cubic metre is full of juice. : g
The juics s then poured. nto fiveditre container, | 16+ Which oue of the fllowiag i the corrct et for m
How many such containers are used? PN
A 2 : : "y
B. 200
C. 2000
D. 200000

13. A road is represented by a length of 3:2
map. What is the actual length of the
kilometres if’ the scale used is 1:50 0007
A 016 .
B. 16 -
C. 16
D. 160

cmona B
md\in

14. In the tiangle KLM diawn beow, comdruct the
perpendicular bisecior of line KM to cut line KM at
N and line KL at P.

M , ¢

K L

What is the size of the acute angle KPN?
A. 145°
B. 9%°
G- 45
D. 35 . !

15, What is the value of x in 3(2c ™+ 1) + 5(x + 4) = 617
A. 3{-’- 3
B. Sk
 of 1-};‘

A o
D. Bl







17. The igble below represents the sales of milk in litres
bty = vendor in five days. The seic for Thursday is
u_n shown.
DAYS MONDAY | TUESDAY | WEDNESDAY | THURSDAY | FRIDAY
NUMEER OF LITRES 28 19 2

lav

19.

One Titre of milk was sold for sh 25. The vendor got
2 tota! of sh 2925 for the sale of milk during the five
dayaﬂowmnymmﬁimolmi&didﬂuvmdnr
sell on Thursday than on Tursday?

K i
B 8
C. 47
D. 17

Sixtcen workers can dig 8 field in 12 days. How
mym:wmtmquuktdaosstodom
work in B days?

A 40

B. 24

c 3

D. 10

The top of a ladder, 26 metres loog, leans on a
vertical wall, The ladder touches the wall ai a height
of 10 metres. What is the horizonlal distance from
the botlom of the ladder to the wall?

A I6tm

B. 18m

C. 24m

D 576m

20. The tadle below shows the postal rates for sending

money order.
vum%gﬁ;mnzx COMMISSION
Not exceeding 500 sh 42
501~ 1000 s 114
1001~ 3 000 shi74
3001- 5000 1 209
500110 000 sh 295
1000120 000 v
20001-30 000 h 617

School fees for two children in the same achool was
sh9400 and sh1] 800. The father bought one
money order 1o pay the total amount of fees. How
much more would be have spent had he bought two
separate moncy orders for the fees?

A. sh 119

B. sh 146

C. sh 736

D. sh 617

21, Whau is the next number in the panera 1,3,7,15,...7
A 22 e

2.  Thc table below shows Sagans-Nanyuki train farcs '&g
o it p. 3

|STATION NANYUK} | NARQ MORU| KIGANJO | KARATINA | SAGANA
NANYUKI = 20 35 55 70
NARO MORU 2 - b7 35 50
KIGANIO 35 v . 2 35
KARATINA 55 3 20 - 20
SAGANA 70 50 3 20 =

and his two children travelled from Nanyuki
Sagana. On their return joursey they first

fare to Kamatina. They later paid the
Nanyuki. How much more money d
travel for their return journgy?

A. sh 150

B. &h 140

C. sh 15

D. sh 10

g

188



23.

The figure below is a trapezium. Lines HG = 11 em,
GF = Scm, EF = 15 cm and HE = 3 cm. Line EF is
parallel to HG and angle FEH = angle EHG = 90°.

28, A motorist fravelling at an average speed of 84 km/h
took 2 hours and 30 minutes to travel from town M
to town N, She then took 3 hours and 20 minutes to
travel back to town M. What was the average speed

" B iy o e
. B. 63 kmh
z C. 73} kmm
3cm - D. 2kmh
: 29, In the figure below, line PQ is parallel to line SR
m| - . and QT is equal 10 TR. Angle QPT = 31° and angle
E 15cm F  TSR=57 :
What is the area of the figure? Q
A 78 em?
E. 39 cm?
C. 65¢em?
D. 75 cm?

A rectangular container 45 cm long and 25 cm wide
was foll of water. After removing 225 fitres of the
water, the level of water became 4 cm high. What
was the height of the container?

A 24cm

B.- 20cm

C. T6cm

D. 6cm

Nekesa has p pencils. Rhoda has 3 more pencils
than Nekesa. Karani has two pencils less than the
total number that Nekesa and Rhoda have. How
many pencils do they have altogether?

A 8p-2

B. dp+4

C. 2p+1

D. 2p+4

Cherono spent sh 8100 on foed in May. In the
month of June she spent 10% less on food than in
May. Bow much money did she spend on foed in
June?

A. sh 8l0

B. sh729

C. sh 9000

D. sh8%10

Amina shared money among her three children. The
nrngotl,-wmetheuoondml{-nrtbmumy.
The third got % of what remained. Amina was left
with sh 1 500. How much money had she before it
was shared?
A. sh3000
B. sh5700
C. sh7200
D. sh 3600

i R :4

What is the size of angle PQR?
A 4
B. 88
C. 103
D. 92

30. The chasges for sending 2 telegram were as follows:

The first 10 words or less sh 15.

Any additional words sh 1-50 each.

Abbreviations and punctuation marks are counted
as words.

A tax of 20% is charged on the amount,

The total amount to be paid is rounded off to the
nearsst 50 cents. What was the cost of sending the

following telegram?

JOHN MLAMA P.O. BOX 360 NYERI GOING TO
KISUMU AFTER THE EXAMINATION KQIGI
A. sh25

B. sh24

C. sh 28:80
D. sh 2900






31.

Town K 40

Below is a travel graph showing the journey of a
motorist tmavelling from town L to town K and
h&.mﬂmtafacycﬁstm\dﬁn;&mtmlto
town K. .

3. A square of side 2 cm is cut from each corner of 2
rectangular paper measuring 8 em by 12 em. Which
one of the following statements is troe?

A. The perimeter of the remaining paper is greater
than the perimeter of the rectangular paper by
16 cm.

B. The perimeter of the remaining paper is less than

T the pevimeter of the rectangular paper by 16 cm.

C. ‘The perimeter of the

reduced by § cm.

D. The perimeter of the remaining paper is equal to

- the perimeter of the reclangulas paper.

35.. A salesman is paid a salary of sh 1 300 per month

plos a commission of 21% on the sale of goods

above sh 10000, In one month he was paid a total

of sh 1800. How much was the sale of the goods?

A sh 300

B. sh 12000

C. sh 22000

D. sh 82000

In a group of 126 spectators the matio of men to

women was 3:4. What is the new ratio if 2 more men

and 8 more women joined the group of spectators?

444

A TI0

B %12

9.00am 10.00

Time in hours

How far from town L was the cyclist when he met
the motorist travelling back to town L?

A. 40 km
B. 32km
C. 20km
D. 8km

What is the value of }(2x+4)y%)+35p-8 when
p=6x=2pandy=§x-17

A. 130

633

433

362 :

B.
C.
D. { '
A machine packs 250 two-kilogram of sugar
Mmotwmh3ﬁmwwm
day. Fi » many tonnes of sugar altogether, do the
two machines pack in five days? <

A. 0875

B. 3125

C. 4375

D. 625

C. 1316
D. 14

A clock was set on Meonday at 830 am Op
Tuesday, the following day, the clock showed
8.45 pm. when the correct time was 8.30 pm. How
many minutes was the clock gaining in every 24 hours?”
A. 10 minutes
B. 7% minutes
© C. 15 minutes
D. 30 minutes

- 38, The base of a closed cuboid measires 4 cm by 5 cm
and the height is 7 cm. The-Sase and the top parts of
the <uboid are painted. What is the total surface
arca of the parts which arc not painted?

A. 166 cm?
B. 126 cm?
C. 6em?
D. 40em?

39, During an election the winning candidate got 0-425

of the votes cast while the other two candidates got
039 and 0-133 respectively. There were 48 spoilt
P

A. 24000
B. 10200
C. 9360
D. 4392



40. A motorist started on a journey of 250 km at

6.30. a.m., travelling at an sverage speed of
100 kmv/h. After travelling for 150 km, the car got 2
puncture and it tock him 30 minutes to change the
wheel. He then continued with the rest of the
journey at-an average speed of 80 km/h. At what
time did he reach hia destination?

A. 9.15am.

B. 945am.

C. 930 am.

D. 9.55 a.m,

Four children bought 53 oranges altogether. Nekoye
bouglit x oranges and Kamau bought 9 oranges
more than Nekoye. Fatuma bought twies 3 many
oranges a5 Nekoye. Atieno bought as mazv oranges
as both Kamau and Fatuma bought. Waic \ o= of
the following equations can be used & uno the
number of oranges Nekoye bought?

A Sx+22=53

B S5x+18=52

C. 7x+ 9=53

D Ix+18=53

Waithera borrowed sh 10000 for a peried of two

years. She was charged compound interest at the
rate of 15% per year. How much interest did she pay
altogether?

A. sh1 500
B. sh3000
C. sh3225
D. sh1725

The fijgure below represents a table mat made up of
a rectangle and four semicircles. The rectangle -
measures {4 cm by 7 cm.

- - . - - e

What is the area of the table met? (Take = %) |
A 1924 o _ o

B. %8 cm’

D. 1941 em?

44. The cash price of a tractor is 1-8 million shillings.

Rotich bought it on hire purchase terms. The total
a.maunlhepuidwas:!o%mmnlhanﬂgmhpﬁtx.
He paid a deposit of sh 660 000 and the remainder
in 24 equal monthly instalments. How much was
each instalmeni?

A. sh 70000

B. sh 97500

C. sh 47500

D. sh 25000

45, Omala and Mwite had packets of tea to be packed

into cartons. Each carton holds 46 packets. Omala
paeked' 63 certons and remained with 24 packets
-lav;ule Mwite packed 54 cartons and remained with
pmﬂuwmymorepacketscfteahad
Omala than Mwite? '

A 419
B, 414
C. 40
D. 5425

46. The figure shown below, is formed by two right-

angled triangles ABD and BCD,
-
D

24cm
15cm

)
A 20em B

What is the arez of the triangle BCD?
A. 300 cm?
B. 180 cm?
C M
D. 150 em?



47. The population of a village is represented by ihe pis
§ chart below.

1f there were 300 girls, how many more boys than
men were there?

A B

B. 100

C. 180

D 5

48, Complete the construction of plnIHnm
mmmmh-wa

R

What bs the length of line QS7
A 6Tem
B. TOem
C. 3em
D %lem
49, Which is the correct onder of writing the fractions
2,2,4, a0 & from the largent 1o the smallest?
A
s g
c Hiid
LR TER

Which one of the shapes below would fit in the
dotted space in the patiern above?







